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% R & |— RO |BHHEOIDO| H R B —ROLO|FHEOLD| B R F BERTE T ERBELT & 8 & x| K EX
5 15 5 15 15 15 15 15 5 15 15 15 15
LR | e 8,533 57 2 8, 592 231 417 5 12 817 1,178 9,710 17 0
5 & 2,408 0 0 2,408 59 20 0 4 19 162 2,570 6 0
il = F 2,474 0 0 2,474 99 0 0 11 165 231 2,705 6 0
= B 3, 508 0 0 3,508 61 65 0 12 132 270 3,718 13 0
¥ H 2,185 2 0 2,181 49 0 5 88 142 2,329 3 0
W w2 2,220 0 0 2,220 64 2 0 12 106 184 2,404 4 0
a8 =5 3,498 0 0 3,498 81 33 3 13 209 339 3,837 1 0
] 16, 293 2 0 16, 295 369 120 3 57 179 1,328 17,623 39 0
Ok 4, 661 12 0 4,613 82 8 0 14 110 4,783 5 0
B W K 3,089 0 0 3,089 112 0 0 120 231 3,326 0
] "B 2,954 1 0 2,955 14 47 0 182 310 3, 265 6 0
wE 1,822 6 0 1,828 29 65 0 2] 389 510 8, 338 11 0
5] S 4,398 18 0 4,416 88 86 3 17 211 465 4,881 0
i &k % 3, 653 0 0 3,653 297 10 11 43 182 943 4,196 0
&t 26,571 37 0 26,614 682 216 14 105 1,158 2,175 28, 789 39 0
FE 1,624 19 0 1,643 11 24 3 30 197 331 1,974 15 0
X R = 15,928 48 0 15,976 331 11 16 388 1,986 2,798 18,774 51 0
EEIN 8, 7197 65 0 8, 862 69 41 2 60 940 112 9,574 10 0
= S 1,735 4 0 1,739 218 3 4 10 29 264 2,003 3 0
&t 34,084 136 0 34,220 695 145 25 488 2,752 4,105 38, 325 19 0
= W 1,859 0 0 1,859 15 2 0 1 247 331 2,190 0
®= a 1,826 5 0 1,831 137 0 0 10 247 394 2,225 5 0
R B FF 1,413 0 0 1,413 80 1 0 10 190 281 1,694 0
A 5,098 5 0 9,103 292 3 0 2] 684 1, 006 6, 109 14 0
Ik B 2,831 1 0 2,838 140 4 2 13 366 925 3, 363 3 0
% 7 [ 4,720 2 0 4,722 115 0 9 9 489 622 5,344 9 0
=] Z N 1,121 0 0 1,121 142 6 3 26 1, 261 1,438 9,159 31 0
2 = E 2,418 1 0 2,419 58 3 0 4 324 389 2,808 3 0
B 17,696 4 0 17,700 455 13 14 52 2,440 2,974 20,674 46 0
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% R & |— RO |BHHEOIDO| H R B —ROLO|FHEOLD| B R F BERTE T ERBELT & 8 & x| K EX
5 15 5 15 15 15 15 15 5 15 15 15 15
# B 1,846 0 0 1,846 46 1 1 5 144 197 2,043 2 0
X R AR 3, 106 0 0 3, 106 59 0 1 25 334 425 4,131 13 0
X 10, 448 0 0 10, 448 123 5 1 80 1,280 , 489 11,937 33 0
EE 1,466 2 0 1,468 187 2 1 34 125 949 8,417 25 0
=R 2,033 0 0 2,033 95 0 9 6 109 175 2,208 3 0
57 L 2,118 0 0 2,118 86 0 0 15 253 354 2,472 5 0
] 27,617 2 0 27,619 556 8 15 165 2,845 , 589 31, 208 81 0
5 W 1,085 0 0 1,085 51 0 0 3 17 " 1,156 0 0
I 5 1R 1,571 0 0 1,571 37 0 0 1 106 144 1,715 5 0
i N 3, 282 0 0 3,282 68 0 0 6 318 392 3,674 6 0
5 5 4,303 1 0 4,304 10 0 2 10 352 434 4,738 12 0
= A 2, 506 0 0 2,506 44 0 0 8 120 172 2,678 5 0
B 12,741 1 0 12,748 210 0 2 28 913 , 213 13, 961 28 0
&5 1, 481 0 0 1,481 34 0 1 5 16 116 1,597 5 0
= Z 1,586 0 0 1,586 52 0 0 12 0 64 1, 650 8 0
IR 2,513 0 0 2,513 58 0 9 1 100 170 2,743 0
1 = A 1,634 0 0 1,634 32 0 0 4 136 172 1, 806 0
E 1,274 0 0 1,274 176 0 6 28 312 522 1,796 23 0
& fdl 6, 494 0 0 6, 494 106 0 9 90 683 844 1,338 12 0
= &t &' 1,265 0 0 1,265 22 0 0 3 173 198 1,463 2 0
fi] & B 2,414 0 0 2,414 13 0 1 8 261 343 2,751 3 0
] 10,173 0 0 10, 173 201 0 6 61 1,117 , 385 11,558 17 0
BE K 2,715 2 0 2,111 68 34 0 12 305 419 3,136 4 0
A& ) 1,893 0 0 1,893 83 1 2 1 306 399 2,292 5 0
= I 1,689 13 0 1,702 11 48 0 11 260 330 2,032 3 0
Z:S RS 3, 256 1 0 3,257 110 9 0 34 337 490 3,141 3 0
&t 9,553 16 0 9, 569 212 92 2 64 1,208 , 638 11,207 15 0
PR | P AR 2,108 1 0 2,109 216 0 0 21 0 231 2, 346 4 0
2 177,153 261 2 178,016 4,421 644 92 1,168 15, 025 21,350 199, 366 402 0




